
1. Which of the followingconsequences are not
compulsory in the event of proclamation of
President Rule in a State?

1. Dissolutibn of state Legislative
Assembly

2. Dismissal of state council ofministers

3. Dissolution of Local selfbodies

Select the correct answer from the codes
given below:

(A) 1 and 2 only

(B) 2 and 3 only

(C) 1 and 3 only

(D) 1, 2 and 3

2. Match the allocation of seats in council of

states.

3. Which ofthe following are included in the 73rd

amendmentofIndian Constitution?

1. District Panchayat

2. Kshetra panchayat

3. Village Panchayat

4. Nagar Panchayat

Select the correct answer from the codes

given below

(A) 1 and 2

(B) 1,2 and 3

(C) 1,3 and 4

(D) All the four

4. Which of the following is the custodian of

constitutionofIndia?

(A) President of India

(B) Speaker House of the people

(C) Prime Minister ofIndia

(D) Supreme court of India

5. Match List-I with List-II and select the correct

answer from the codes given below:

List-II (Provisions)

States Allocation of seats

a. Tamilnadu 19 List-I (Articles)

a. 215 1.

b. Maharashtra2.5

c. Chhattisgarh3. 16

Transfer of a Judge from

one high court to
another high court

b. 222

d. West Bengal 4. 18

2. Power of Super -

intendance ofall courts

c. 226
(A) a b c d

3. Powerof high courts to

issue certain writs

4 1 3 d. 227 4. High Courts to be court

(B) a b

L

of Records

(A) a b C d

2 3 C 1 4 1 3 2

(C) a b d (B) a b C d

1 4 3 2

1 2 4
(C) a b C d

(D) a b C d 2 1 3 4

(D) a b c d

3 4 2
4 2 3 1
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6. Which ofthe following are originaljurisdiction
of Supreme court?

1. Dispulestetween GovermmentofIndia

and ont or ore states

9. Match List I with List II

List-1 Films

a. Duniyana Mane

(1937)

List - II Directors

1. V. Shantaram

2. R.S. Chaudhry

2. Disputesorfelection ofeitherhouse of

parliament

b. Khuda ki Shaan

(1931)

3. Dispules between Govt. of Indiaand

any Unjon Perritory

c. Sinhagadh

(1923)

3. Baburao Painter

d. Achhut Kanya

(1936)

4. Franz Osten

4. Dispueshelween two or more states Select the correct answer from the codes

Select the chtfect answer from the codes

given below

given below:

(A) a b C d

1 2 3 4

(A) I and 2 (B) a b c d

1 2 4 3
(B) I and 4

(C) a b C d

(C) 2 and 3

(D) 3 and

2 1 4 3

(D) a b C d

2 1 3 4

7. Who wrote the bogk, Pakistan or the Partition

ofIndia?

8.

(A) Dr. B.R-Ambedkar

(B) Tej Bahadur Sapru

(C) Ram Manohar Lohia

(D) Sardar Vallabh Bhai Patel

LA
'The famous nationalist song "Vande Mataram"

was in whichhiex1

(A) Gora

(3) AnandMa

(C) Karmbhoomi

10. Match List - I with the List - II

List - I List-II

a. Surya Sen 1. Chittagong
Armoury raid

b. Jatin Das 2. 64 days fast

c. Bina Das 3. Fired point- blank
at the Governor

d. Bhagwati

Charan Vohra

4. The Philosophy of

the Bomb

Select the correct answer using the codes

given below

(A) a b C d

1 2 3 4

(B) a b C d

1 2 4 3

(C) a b C d

2 1 4 3

(D) a b C d

2 1 3 4(D) Nildara
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11.

Who of the following murdered Plague
Commissioner Walter Charles Rand in 1897?

(A) Dadar Brothers
LA

(B) Savarkar Brothers

(C) Patekar Brolers

(D) Chapekar Brothers

12. Who wrote the Toreword of Mahatma
Gandhi's biographyin Marathi, written by
Avantikabai Gokhale?

(A) Bal GangadleirTilak

(B) Mahadey Govinda Ranade

(C) Gopal Krishna Gokhale

(D) Shripat Damle

13. Consider the following statements:

1. In Februan 1945, a revolt occurred in
the Royal Indian Navy.

2. The Muslim League appealed to
Muslims for DirectAction Day on 16
August 1946, and the new slogan was
Ladke Lenge Pakistan (We will fight
and get Pakistun)

3. Sardar Vallabhbhai Patel wrote the

book Hind Swaraj.

4. The Rowlatt Bill proposed detention
withoutatialfor a maximum period of
two years.

Which ofthe aboye statements is/are correct?

(A) Both 1 and 2,

(B) Only 1

(C) Only 2

(D) 2 and 4

14/PD/M-2025-01-G

14. Conside the following statements:
1. V.D. Savarkar referred to the revolt of

1857 as the Indian War of

Independence.

2. S.B. Choudhari argued that the 1857
revolt was not a rising of the people.

Which ofthe above statements is/are cormect?

(A) Both 1 and 2

(B) Only 2

(C) Only 1

(D) None of the Above

15. Considerthe following statements:
1. The Ghadar party was formed in

Boston.

2. In the Ghadar Newspaper, its masthead
was inscribed with the caption 'Angrezi
Raj ka Dushman' or 'An enemy of
British rule'.

3. Ghadar Party was formed in 1913.
Which ofthe above statements is/are correct?

(A) 1 and 2

(B) Only 1

(C) Only 2

(D) 2 and 3

16. Consider the following statements:

1. The film Raja Harishchandra was
directed by Dadasaheb Phalke.

2. The film Raja Harishchandra is
considered to be the first film made in

India.

3. Raja Harishchandra was made in
19137

Which ofthe above statements is/are correct?

(A) 1 and 2

(B) Only 2

(C) Only 1

(D) Allof the Above
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17. The lunsinvaded India during the reign of
(A) Chandragupta-
(B) Skandgupta

(C) Kumaragupta-1
(D) Budhgupta

18. Mandsaur-Prashasti prosents the details of
the achievementofwhich ruler?
(A) Skandgupta

(B) Ramgupta

(C) Kumaragupta

(D) Chandragupta -II

19. In travel through India, Fahhien has
mentioned a hospital. It was located at

(A) Ujjain

(B) Tamralipsi

(C) Kaushamabi

(D) Pataliputra

20. The system of philosophy propounded by
Kapilamuni is

(A) Pura Mimansa

(B) Nyaya Philosophy
(C) Sankhya Philosophy

(D) Uttar mimansa
L

21. The court language of Mughals were

(A) Turkish

(B) Urdu

(C) Persian

(D) Arabia

22. Mughals adopted Navroj ſestivals from

23.

(A) Zoroastriaus

(B) Mongols

(C) Jews

(D) Turks

Who had Guru Nanak appointed his
successor?

(A) Guru Ramdas

(B) Guru Har Rai

(C) Guru Amardas

(D) GuruAngad

24. Which Mughal Emperor is known by the
name of Rangila?

(A) Farukh Siyar

(B) Muhammed Shah

(C) Rafi- ud - Darazat

(D) Rafi- ud - Daula

25. Sind was conquered and annexed by

(A) Wellington

(B) Napier

(C) Sleeman

(D) Lawrence

26. James Andrew Ramsay was the real Name
ofwhich Governor - Generals of India?

(A) Lord Dalhousie

(B) Lord North

(C) Lord Canning

(D) Lord Curzon
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27. Which of the following is not correctly.
matched?

(A) Compos -Brazil
(B) Llanos- Venezuela

(C) Gran Chaco-Northern Argentina
(D) Veld-Australia

28. Which one of the following statements is not

correct?

31. Match List - I with List - II and select the

correct answer using the code given below:

List-1 List-II

(Name ofshifling (Country)

Cultivation)

(a) Roca (i) Thailand

(b) Tamrai (ii) Venezuela

(c) Conuco (iii) Brazil

(A) Equator divides Africa into

approximately tiwo equal parts.

(d) Ladang (iv) Malaysia

(i) (ii) (iii) (iv)

(B) The Patagoniais cold desert with very
little vegetation

(A) (a) (b) (c) (d)

(B) (d) (b) (a) (c)

(C) Lake Tanganyika is the largest lake of
Africa

(C) (b) (c) (a) (d)

(D) (c) (d) (b) (a)
(D) Mt. Blanc is the highest peak of Alps.

32.
29. Selectthe correct answer using the code given

Guntur district ofAndhra Pradesh is known

for which one of the following ore deposits?
below:

Tribes Country (A) Bauxite

a. Chin 1. Argentina (B) Magnetite
b. Toba 2 Bangladesh

(C) Anthracite
c. Chakma 3. New zealand

d. Maori -4 Myanmar (D) Muscovite

1 2 4

(A) a C b

(B) b C d a

33. Which one of the following statement is not

correct?

(C) a b C d

(D) d b a C
(A) The variability of rainfall at Chennai is

more than that of Mumbai

30. Which one ofthe following statement is not
correct?

(B) The Western disturbances originate
from the Mediterranean sea

(A) Strait of Malacca lies between

Malaysia and Sumatra

(B) Makassar straitlies between Borneo

and Newzeland

(C) The retreating South West Monsoon

causes some rains in the coastal areas

of Tamil Nadu

(C) Strait ofSunda lies between Java and
Sumatra

(D) Strait of Mesina lies between Italy and
Sicily

(D) The Monsoon Expedition (Monex)
was organised under the joint auspices
of the united states of America and
India.
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34.
Match List -1 with List -Il and select the correct

answer using the code given below:
List- List-I1

37. Assertion (A): Ametal spoon placed in a hot

cup oftea becomes hot after
a few minutes.

Tributar River
Reason (R): Metals are good conductors

of heat.
(a) Koshi (1) Brahmaputra

(b) Tista (2) Narmada
(A) Both A and R are true, and R is the

correct explanation ofА

(c) Hiran (3) Godawari (B) A is true, but R is false

(d) Purma (4) Ganga (C) Both Aand R are true, but R is not the
correct explanation ofА

1 2 4

(A) (b) (c)(d) (a)

(B) (d) (c)(a) (b)

(C) (a) (b) (c) (d)

(D) (c) (d) (b) (c)

35. Thefour segments ofthe Golden Quadrilateral
join the following cilies:

1. Delhi-Munmbai
2. Mumbai-Chennai

3. Chennai - Kolkata

4. Kolkata Delhi

Considerthe lengihofthe above segments in

descending order and select the correct
answer using the code given below:

(A) 3, 4, 1,2

(B) 4, 3, 2, 1

(C) 3, 4, 2, 1

(D) 4, 3, 1, 2
LA

36. Which oneofthefollowing state is the leading
producer ofcoffee in India?

(A) Andhra Pradesh

(B) Kerala

(C) Karnataka

(D) Tamil Nadu

(D) A is false, but R is true

38. Which of the following uses reflection of
sound?

a. SONAR

b. Stethoscope
C. Echo

d. Periscope

(A) a, band c only

(B) a and c only

(C) a, c and d only

(D) All ofthe above

39. Identify the correct statements aboutfriction:

1. Friction can produce heat

2. Friction always opposes motion

3. Friction is not useful in walking

4. Lubricants reduce friction

(A) 1,2 and 4 only

(B) 2 and 3 only

(C) 1 and 3 only

(D) All ofthe above

40. What is the reason behind using copper wires

in domestic electrical wiring?

(A) Copper is cheap

(B) Copper offers low resistance and is a

good conductor

(C) Copper is a poor conductor

(D) Copper glows brightly when heated
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41. Match the devices with theirassociated forms

of energy conversion:
Device Energy Conversion

a. Electric Motor 1. Electrical→→

Mechanical

b. Electric Bulb 2. Electrical→Light

c. Solar Panel 3. Light→ Electrical

d. Microphone 4. Sound Electrical

(A) a-1, b2, c-3, d-4

(B) a- 1, b3,c-2, d-4

(C) a -2, b-1c -3, d-4

(D) a-1, b-2, c-4, d-3

42. Why do glass windows crack in winter if

heated rapidly?5
(A) Glass becomes heavier

(B) Uneven expansion causes stress in the

glass

(C) Glass cannot conduct electricity

(D) Glass absorbs moisture

43. Which of the following are not

electromagnetic waves?

a. Infrared rays,

b. X-rays

c. Sound waves

d. Microwaves

(A) conly

(B) aandc only

(C) a, band d only

(D) All ofthe above

44. Sound: Vibration Electricity:?

45.

46.

Assertion (A): A person can hear around a
cormer but cannot see around
it

Reason (R): Light waves can bend around
obstacles more easily than
sound waves.

(A) Both A and R are true, and R is the

correct explanation A

(B) A is true, R is false

(C) Both A and R are true, but R is not the

correct explanation A

(D) A is false R is true

Which of the following best explains why

astronauts appear weightless inside an orbiting
spacecraft?

(A) There is no gravity in space

(B) There is vacuum inside the spacecraft

(C) They are falling with the spacecraft
under gravity

(D) Their mass becomes zero in orbit

47. Which of the following is not a homogenous

mixture?

(A) Brass.

(B) Smoke

(C) Air

(D) Aqueous solution of sugar

48. Which base is present in RNA but not in

DNA?

(A) Flow of electrons

(B) Motion of material

(C) Magnet

(D) Resistance

(A) Uracil

(B) Thymine

(C) Cytosine

(D) Guanine
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49. Which ofthe following in NOT the correct
match?

(A) The acid presentin tomato - Formic

acid 7

53. Which element is essential for blood clotting?

(A) Ca

(B) Sr

(C) Ba

(B) The acid presentin grapes - Tartaric

Acid
(D) Ra

(C) The acid present inOrange-Citric acid

(D) The acid presentin rancid butter -

Butyric acid

50. Which of the following compounds is
aromatic?

(A)

(B)

(C)

D)

A

51. CO, when passed in excess, in lime water

turns colourless again because of

(A) Calcium carbonate

(B) Calcium Chloride

(C) Calcium bicarbonate L

(D) Copper Carbonate

52. Whichof the following conduct electricity?

(A) Molten LithiumChloride

(B) Copper wire

(C) Copper Chloride

(D) A and B

54. Which of the following is an amphoteric
oxide?

(A) Zinc oxide

(B) Sodium Hydroxide

(C) Magnesium oxide

(D) Calcium hydroxide

55. The heat content of a system is known as

(A) Entroру

(B) Intermal energy

(C) Freeenergy

(D) Enthalpy

56. Chemical name ofwashing soda is

(A) Sodium Chloride

(B) Sodium Carbonate

(C) Sodium Hydrogen Carbonate

(D) Sodium Hydroxide

57. CIRCLE is related to RICELC in the same

way as SQUARE is related to_

(A) QSUERA

(B) UQSAER

(C) QUSERA

(D) UQSERA
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58. Which is the number that comesnext in the

following sequence?

3.7, 15, 31.63.

یر

136

62.

(A) 92

R

127

From his house, Lokesh went 15 kms to the
North. Then he turned West and covered
10 kms. Then he turned South and covered
5 kms. Finally turning to East, he covered
10 kms. In which direction is he from his
house?

(A) East
10.

(C) 115 (B)
اک

North S

D) 131
(C) West

(D) South

59. Daya has a brother Anil. Daya is the son of
Chandra. Binial is Chandra's father. In terms

of relationship.What is Anil of Bimal?

63. Number of letters skipped in between
adjacent letters in the series decreases by two.

Which ofthe following series observes this
rulc?

(A) EPVAF

(A) Son

(B) Broher

(C) Grandson

(D) Grand father

60. If P+QmeansP is the husband ofQ; P+Q
means Pisthe sister of Q; Px Q means Pis

the son of . Which ofthe following shows A

is the daughter of В?

61.

(A) CBA

(B) DxB+C÷A

(C) B+C ×A

(D) A÷D×B

Six personsA,B,C, D,E and F are sitting in
two rows threcin each. E is not at the end of
any row. D is second to the left of F. C, the
neighbourof Efis sitting diagonally opposite
to D. B is the neighbour of F who is facing B?

(A)E

(B) A

(C) D

(D) C

(B) UCJOP

(C) GPWBE

(D) XFMQU

64. How many odd numbers are there in the

following sequence, which are immediately
followed by an odd number?

51473985726315863852243
496

(A) 3

(B) 5

(C) 4

(D) 6

65. Select the missing number from the given
alternatives;

5 6 6 7 4 S
12 21 ?

4 5 10

(A) 32

(B) 14

(C) 22

(D) 48

14/PD/M-2025-01-G
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66.
If 'x' stands for 'addition', *stands for

Subtraction' +'stands for multiplication' and
'-'stands for 'division.Then

(A) 5

20x8+8ને2 = ?

(B) 25

(C) 24

(D) 80

1
2
2

67. In the current yeat,an entrepreneur from
which Indian State established the 'Modi

Memento Museum'showcasing 56 auctioned
souvenirs?

(A) Gujarat

(B) Madhya Pradesh

(C) Bihar

70. Mr. Sachin Chaturvedi,who assumed the role
of Vice Chancellor at Nalanda University,
Bihar in May 2025, isan expert inwhich field?

(A) History

(B) Economics

(C) Sociology

(D) Geography

71. Which state Government has recently
declared Heat waves, Sun strokes and Sun
burns as 'State - Specific disaster'?

(A) Andhra Pradesh

(B) Karnataka

(C) Maharashtra

(D) Telangana

N(D) Kerala

N
68. Which Indian state hosted its international

Buyer - Seller meetin May 2025?

(A) Punjab

(B) Bihar

(C) Uttar Pradesh

(D) Madhya Pradesh

69. Which state topped the implementation of the

Pradhan Mantri Fofmalisation ofmicro Food

processing Entreprises (PMFME) Scheme in

the financial year 2024-25?

(A) BiharN
(B) Gujarat

(C) Madhya Pradesh

(D) Uttar Pradesh

72. Which financial institution commemorated its

90th year of establishment in year 2025?

(A) Union Bank of India

(B). Ręserve Bank ofIndia

(C) Bank of India

(D) Central Bank of India

73. Which operation was launched by

Government ofIndia for rendering assistance

to Myanmar due to earthquake on March 28,
2025?

(A) Brahma

(B) Durga

(C) Kali

(D) Vishnu

口
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74. Whichcountryhosted the third Central Asian
youth delegation from 22nd to 28th March,
2025?

(A) Uzbekistar

(B) India

(C Bhutan

(D) Nepal

75. Shri Jyotiraditya Scindia represented India at

Mobile World Congress 2025 inthe month
of March held at

(A) Spain

(B) Singapore

(C) India

(D) Russia
LA

76. The 4th meeting oftheJoint working Group
on tourism Cooperation between India and

Japan took place.on April 8, 2025. Where

was it held?

(A) New Delhi

(B) Bangalore

(C) Pondicherry

(D) Mumbai

LA
77. Navkar Mahamantra Divas, celebrated on

April 9,2025, in hönor of Lord Mahavir's

birth, was inaugurated by whom?

(A) Narendra Modi

(B) Droupadi Murmu

(C) YogiAdityanath

(D) Amit Shah

78. Which Bollywood actor was recently

honoured as the 'Fit India Icon' by union

Sports Minister Mansukh Mandaviya?

(A) Shahsukh Khan

(B) Ranbir kapoor

(C) Amir Khan

(D) Ayushmann Khurrana

79. Who was crowned Miss World 2025 at the

72nd edition ofthe pageant held this year in

Hyderabad?

(A) Krystyna Pyszkova

(B) Maja Klajda

(C) Opal Suchata Chuangsri

(D) AUrelie Joachim

80. Howmany medals did Bihar win at the 2025

'Khelo India Youth Games"?

(A) 24

(B) 38

(C) 36

(D) 34

81. Recently the Ministry of Skill Development

and Entrepreneurship has launched 'Al career

for Women' in collaboration with whom?

(A) Apple

(B) Google

(C) Meta

(D) Microsoft

82. What is the meaning of Viksit Bharat 2047?

(A) Modern India

(B) Developed India

(C) Developing India

(D) Empowered India
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83. Given below are two statements: one is

labeled asAssertion (A) and other is labeled

as Reason (R)

Assertion ATPM Kisan Samman Nidhi is
a Central sector scheme with

100 percent funding from

Govemment of India.

Reason (R):Under the scheme an income

support of Rs. 6,000 /- per

year in three equal installment
will be provided to all land

holding farmers families.

In light ofthe above statements, choose the

most appropriate answer from the options
given below:

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(B) (A)iscorrect but (R) isnotcorrect
(C) (A) is not correct but (R) is correct

(D) Noneofihe above

84. Match List - I with List - II

LisT List-II

(Governmentschemes) (Date of Launch)

85. When there is an increase in economic

development, the share of the tertiary sector
in National Income will -

(A) Remain Proportional

(B) Increase

(C) Remain constant

(D) Decrease

86. Which of the following not compose the
current account in the Balance of payments?

(A) Export of goods

(B) Foreign Direct Investment

(C) Import of goods

(D) Import and Export of Services

87. Which ofthe following is not an institutional
source of rural credit?

(A) Domestic Bankers

(B) Primary Agricultural co operative credit
society

(C) Commercial Banks

(D) Regional Rural Bank

88. The main proposal of New Industrial Policy
1991 was:

a. Pradhan, i 05/04/2016

MantriJandhan

Yojana

b. Sukanya Samriddhi ii 08/04/2015

Yojana
c. Pradhan Mantri

Mudra Yojana

ii. 21/01/2015

d. Stand-upIndia iv. 28/08/2014
Scheme

(A) The industrial licensing had been
abolished for all industries except for a
short list of industries

Choose the correct answers from the code

given below

(B) Import restrictions on technical know
how

(A) a-( (ii), c-(iii), d-(iv)

(B) a-(iv-(iii), c-(ii), d-(i)

(C) Foreign capital investment to be
prohibited

(C) - (- (iii), c - (i), d - (iv) (D) Facility offoreign direct investment up
to 100 percent(D) None of the above

14/PD/M-2025-01-G

口口

24 PD-201 마

Click Here To Join Telegram- BPSC Network



89. India decreased the average tariff rate on
dutiable items between 2000 to 2024:

90.

(A) 50% to 30%

(B) 48.9% to 17.3%

(C) 30.5% t020.4%

(D) Nontortheabove

What was the ranking of India in foreign

exchange reserve in 2024?

(A) First

(B) Third

(C) Second

(D) Four

91. What is India's rank in the cement production
in the worla?

(A) First

(B) Third

(C) Second

(D) Fourth

92. The termof oflice for president Shanker Dayal
Sharma was

93. Which ofthe following is not true about the

amendment of the constitution under article

3687

(A) The Bill may be introduced in either

House of Parliament

(B) In case of disagreement between the

Houses joint sitting may be called

(C) The Bill must be passed by special

majority (2/3rd present and voting and

more than 50% of the total

membership)

(D) The president is bound to give assent

to the Bill duly passed and ratified

94. Match List I with List II and find the correct

answer from the codes given below:

List I (System) List II (Article)

1. 243- 243(O)a. Electoral system

b. Services under 2. 124-147

centre and states

c. Panchayats 3. 324-329

d. Judicial systems 4. 308- 323

at central Level

(A) a b C d

3 4 1 2

(B) a b C d

3 1 4 2

(C) a b C d

2 1 4 3

(D) a b c d

1 2 3 4

(A) 20122817

(B) 19921897
ملا

(C) 2007-2012

(D) 1987-1992

95. Tenth schedule ofthe Indian constitution deals

with which ofthe following?

(A) Official languages

(B) Anti- Defection

(C) Land Reforms

(D) Panchayati Raj
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96.
Which ofthe following appointments by the
presidentof India aremade under the warrant
along with his/her signature and seal?signatuys
1. Judges of the supreme court of India

2. Governor of state

3. Chairman ofthe Union Public Service
Commission

4. Attormey GencralofIndia

Select the correct answer from the code given
below:

(A) 1, 2, 3 and 4

(B) 1, 2 and 4

(C) 1, 2 and 3

(D) 1 and 2

98. Match List-Iwith List- II and select the correct

answer fromthe codes given below:
List I

a. Abolition of

Titles

List II

1. Article 29

2. Article 21A

manage religious

aflairs

b. Freedom to

c. Protection to 3. Article 18

linguistic minorities

d. Right to 4. Article 26

education

(A) a b c d

3 2 1 4

(B) a b C d

2 3 4 1

(C) a b C d

4 3 2 1

1
2 (D) a b C d

3 4 1 2

97. Which of the following commissions are

statutorybodies?O
1. National Scheduled Tribe commission

2. National Human Rights commission

99. Whowill be acting president from the following
in the event of the occurrence of vacancies in

the offices of both the President and Vice
President?

(A) Vice Chairman of council of states
3. National minorities commission

(B) Speaker of Lok Sabha

4. National scheduled caste commission

Select the correct answer from the options

given below: N

(A) 1 and 2

(B) 1 and 4

(C) 2, 3 and 4

N

(C) Chief Justice of India

(D) Attorney General of India

100. Dr. Manmohan singh was appointed Prime
Minister of India as member of

(A) Rajya Sabha from Assam

(B) Lok Sabha from Punjab

(C) Lok Sabha from Assam

(D) Rajya Sabha from Punjab
(D) 2 and 3
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